o
e

[T = i =
ohe 254

Hnog

|

g A

2
Da>08 W, ax+1>3 = x> =
a

2

@a>049 ], —ax+2>4 = x<-=
a

2

(@)a<0?—imﬂ,—ax+2>4 = x> -
a

C@)a>0?:l”ﬂ,—ax+4>2 = x>g

a
2
®a<0¥9M,—ax+4>2 = x> =
a

i
H
il
kl
il
'
B
o
i)
)
=

~&B

® -—ax+2>4
—ax> 2

uhR 2] epect.
2

x> ——
a

@ —ax+4>2
—ax > -2

a<0°]0nZ —g>0, FHE —¢ 2 o]k BE535 o] vk




oL WHFel thA By] M2 ol §stel L Tk & el 5000
A WE 5 0 T2 IR A B 4 9, 6 AR EE 1oAY
500 9] 57 AFL ok ghek. A 2ol 13000 9 o]ak7} w7
steld L2 9e o) ¥ A7H ohA] B 5 QA Fohu?

D 1974 @ 2074 @21711 @ 227H ® 2374

B

Al B Z20380] 5 x 7iet sk

5000 -+ 500(x — 5) < 13000

x<21

whatA] 2] 21 7R & 4 9l




w
=
=
S

) o 5 7V 2 571 2 o, %

T
"I_a

9

25 12210 ) g g
4(x-2)-3(x—a) <12 A 4x -8 - 3x + 3a < 12
. x<20-3a

ol % b 2 47k -1 olmg
x o] ZHigto] -1 o] Hth,
20— 3a = -1

La="T7




A Z7NA 3000 mPolX B A7 2 of, Aol 1 £ 100
m2] £ 02 Hoj7lrhr hFollis 1 £ofl 50 mo] 202 ZojA
40 1 ool E&ste w gt Holzt A gl sigEHE AE BE
237

Rl

@® 300 m ® 500 m ® 1000 m

@2000 m @2500 m

B

ozt A=E x 2tal s
Zoj7F A& 3000 — x 2t & 5= Ut

(23) = 2 o=z A2 A5

(F1o1ZF AIZE) +(AolzE A7 <
X 3000 — x

100 T 50

Rl 100 & ol F2fshd

x + 2(3000 — x) < 4000

. x> 2000

s HAAZE A= - 2000 molAd

Jl')‘

40+4) o|B=

—~

<40 °l2F & = A




FEE EE% AFE 300g 2 57T 9% ¢ AEE 400g o ¥
o, 5=7} 6 loP7} = st gt FUtR Yol & AFE
Lo H

® 1% ol @ 1% oJst ® 2% oA

@)2% o]} ® 3% oA+

X 9
= x4
700 <300+ 1gp X409 = 155

L x<2




